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GRAPHING A LINEAR INEQUALITY IN TWO
VARIABLES
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Graph a linear inequality in two variables
Graph the inequality y < —%‘-x + 4.
Solution i
-
1. Graph the equation y = —-%x + 4. The inequality is M= =
<,souse adashed line. B= 4
F i | 1
2.Test (0,0)iny < —5X + 4,
o 4 2 ("')*1
044 Troe
3. Shade the half-plane that (5, 4cins (0, 0) !
because (0, 0) LS a solution of the inequality.
& \5 - C\\a'\‘}\ﬂvé Fhe onts ted
/Al e . __"
AL '
AV
/
A
/"
{ ,- v
|
SoTeNS Ace  AlC €
ALF PLANE.

PoiaTS 1IN TTWES




Your Notes Graph a linear inequality in one variable
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LESSON

&7 Practice

For use with pages 404- 412

Tell whether the ordered pair is a solution of the inequality.

1. x+y>-9;(0,0) 2. x—y28;(14,9) 3. 2x—y>4; (=6, —15)
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Fig] Practice -
D For use with pages 404-412

Tell whether the ordered pair is a solution of the inequality.

1. x+y>-9(0,0 2. x—-yz28;(14,9) 3. x—y>4;(—-6,—1%

Graph the inequality.
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